A Second

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1
October 2008
Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

OPERATOR: License # 31629	API No. 15 - 151-22,22316-00-00
Name: Nash Oil & Gas Inc.	Spot Description:
Address 1: P O Box 8747	C_NE_NWSec. 1Twp. 27_S. R. 11 East west
Address 2:	660 Feet from A North / South Line of Section
City: Pratt State: KS Zip: 67124 +	1980 Feet from East / West Line of Section
Contact Person: Jerry Nash Phone: (620) 672-3800 RECEWED	Footages Calculated from Nearest Outside Section Corner:
0000 5 0	County: Pratt Lease Name: CRC Well #: _2
	III. Fact
Wellsite Geologist: Kim B. Shoemaker CONSERVATION DIVISION CONSERVATION DIVISION	Field Name: Haynesville East Producing Formation: Viola
Purchaser: Oneok WICHITA, KS	1
Designate Type of Completion:	Elevation: Ground: 1762 Kelly Bushing: 1770
New Well Re-Entry Workover	Total Depth: 4360 Plug Back Total Depth: 4360
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes V No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Dry Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/_AI+1-D1q-\$x cm; 16/
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content:ppm Fluid volume: N/A bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used:
Plug Back: Plug Back Total Depth	· ·
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion	Operator Name:
Other (SWD or Enhr.?) Docket No.:	Lease Name: License No.:
9/27/08 10/27/08	Quarter Sec TwpS. R
Spud Date or Pate Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover or confidential for a period of 12 months if recompletion.	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidence) report shall be attached with this form. ALL CEMENTING TICKETS MUST rm with all temporarily abandoned wells.
All requirements of the statutes roles and regulations promulgated to regulate t are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature:	KCC Office Use ONLY
Title: President Date: 2/24/09	Letter of Confidentiality Pearly of
Subscribed and sworn to before me this <u>24</u> day of <u>February</u>	Letter of Confidentiality Received
	, If Denied, Yes Date:
$20 \frac{04}{2}$	Wireline Log Received
Notary Public: Jackets formall	Geologist Report Received COMMSS
Date Commission Expires:A_LADAWN J. FERRELL	FEB 2 6 2009 .
Notary Public - State of Kansas My Appt. Expires 8-13-2012	
(my ryph. Expires) []- 2012	CONSERVATION DIVISION WICHITA, KS

Operator Name: Nas	sh Oil & Gas Inc.		Lease	Name: CI	₹C		Well #: _2		
Sec. <u>1</u> Twp. <u>2</u>	S. R. 11	☐ East ✓ West	County	y: Pratt	•				
me tool open and cloecovery, and flow rat	osed, flowing and shi	nd base of formations pe ut-in pressures, whether est, along with final char report.	shut-in pres	sure reach	ed static leve	el, hydrostatic pre	ssures, bottom	hole temp	erature, fluid
rill Stem Tests Taker (Attach Additional		✓ Yes 🗌 No	•	☑ Log	; Formati	ion (Top), Depth a	and Datum	:	Sample
	•	✓ Yes □ No	J.F	Name		•	Тор	. 4	Datum
amples Sent to Geo ores Taken lectric Log Run (Submit Copy)	induction Survey	Yes No Yes VINn Yes INO	44		See AH	oaja	X [‡] RE(Ansas corpo	CEIVED RATION CO	MMISSIO
ist All E. Logs Run:							MAR	2 7 200	9
CBL		e e	w . ±.,			- .	CONSERVA WIC	ATION DIVI HITA, KS	SION
	· ·	CASING Report all strings se	G RECORD	New urface, interr		ction, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Wei Lbs.		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	12-1/4	8-5/8	23#		474	65/35 POZ	175	6+3% C	C+1/4 Flow Seal
Casing Prad.	7-7/8	5-1/2	15.5#		4357	60/40 POZ	100	A + 3%	CC 2% Gel
		ADDITIONA	AL CEMENTI	NG / SQUE	EZE RECOR	D			
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks	s Used		Туре апс	d Percent Additive	s	
Shots Per Foot		ION RECORD - Bridge Pli Footage of Each Interval Pr				racture, Shot, Ceme (Amount and Kind of I		rd	Depth
4 spf	4283-4288							#3. 30°	ody's applied. A
	and a Name on the State		-					SCÓRPUR FEB 2	- COUNTS
									ONDIVISION
TUBING RECORD: 2-	Size: -7/8	Set At: 4323	Packer A	At:	Liner Run:	Yes N		WICH	î A.KS
Date of First, Resumed	Production, SWD or Er	hhr. Producing Me		Flowing	√ Pumj	ping Gas	Lift Otl	her <i>(Explain</i> ,	
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Water		Bbls.	Gas-Oil Ratio		Gravity
DISPOSITI	ON OF GAS:	1	METHOD OF	F COMPLET	ION:		PRODUCT	ION INTER	/AL:
Vented Solo	d Used on Lease	Open Hole Other (Specify)	Perf.	Dually C	Comp.	ommingled			

ALLIEC CEMENTING CO., LLC. 33253

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT: Medicine LPC GV=aTB=nd

DATE 6 - 20 - 00	SEC.	TWP. 275	RANGE // W	CALLED OUT 5:30 Am	ON LOCATION	JOB START	JOB FINISH
DATE 9-28-08	WELL #	_				COUNTY	II:30 AM STATE
LEASE CRC	WELL#			RESTON SOUTH		pratt	
OLD OR NEW (Cir	rcie one)		co.Rd.	42E 5/in1	0		
CONTRACTOR L	va. vr.	en R	195	OWNER 1/	asH oily	60.5	
TYPE OF JOB 5				O WINDIN PV	won Ciry		
HOLE SIZE 124		T.D	479.	38' CEMENT			
CASING SIZE			TH 479. 2		rdered <u>175 s</u>	+ 6513516	6434CE+
TUBING SIZE	·		PTH	1 F10-5	eal 1005x	CLESSA	+31.CC
DRILL PIPE H	2.	DEI	PTH	+ 2% 6			
TOOL		DEI	PTH		4		_
PRES. MAX	300		NIMUM 50	COMMON_	214 sx		3,306,30
MEAS. LINE			DE JOINT 20		615X	00.8	
CEMENT LEFT IN	CSG.	201		GEL _	135x	_@ 20,80_	270.40
PERFS.				CHLORIDE	85x		465.60
DISPLACEMENT	Fres	H Wa	7cr 29 B		. /: 1 33	_@	
	EQU	JIPMENT		110-sec	e/ 4/#		102,50
				RECEIVE)	_@	
PUMP TRUCK (CEMENT	ER DWG	erne W	KANSAS CORPORATION C	COMMISSIO	_@	
# 120	HELPER	TYIC	er W	 		@ 	
BULK TRUCK		JOH	n G	MAR 2 7 20		_ @	
#344	DRIVER	J		CONSERVATION D	IVISION	_	
BULK TRUCK		-		WICHITA, K	3		-
#341	DRIVER	Jac	15 B	HANDLING	2965x	@ 2 uo	710.40
·				MILEAGE	296X 43	X.10 =	1.272.8
	RE	MARKS:		- · · -			6,616.0
0:00 000	c. 44	1 Bren	10 - 10-10	107'an		TOTAL	Co, wie
pipe on Bo	c. 1.5	1 10 1 EX	-7.40-4618	Fle Seal	SERVI	CE	
/					SERVI	CE	
SHUT DEWN	RELEA	SED D	lugand	O'SO DEPTH OF I	OB 479.38	.j	
WITH 29BBL	SOFF	Fresh	VATER SH	PUMP TRUC	K CHARGE	1 10	18.00
in cemen				EXTRA FOO	TAGE / 79 FT	@ 85	150 15
					43	@ 7.50	322,50
	Ris	9 Dow	'n	— MANIFOLD	Head Rent		
	•						
•							
CHARGE TO: Na	esh o	11869	5				•
		. •				TOTAL	1,605.6
STREET						101.12	7000
CITY	ST.	ATE	ZIP				
					PLUG & FLOAT	T EQUIPMEN	Т
10/6					Ÿ		
xx tou				1-85/4 001	BIECUPOI	v@ (28.00	68.00
1 100					BIECUPPI	_@	
To Allied Cement	ing Co	LLC					
You are hereby re	_		enting equipm	nent			
	1		oquipu	~~ ~~			



Pratt

NASH OIL & GAS, INC.

P. O. BOX 8747

PRATT ATTN:

KS 67124

PAGE

1 of 2

CUST NO

1970-NAS002

INVOICE DATE

10/08/2008

INVOICE NUMBER

1970002621

LEASE NAME

CRC

WELL NO.

2

COUNTY

Pratt

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

JOB # 1970-02627	EQUIPMENT # 301	PURCHASE C	PURCHASE ORDER NO.		TERMS Net 30 DAYS	DUE DATE 11/07/2008
1770-02027			QTY	U of M		INVOICE AMOUNT
			QIT	U OI W	UNITERICE	INVOICE AMOUNT
or Service D	ates: 10/07/2008	8 to 10/07/2008				
970-02627						·
1970-19050	Cement-New We	ell Casing 10/7/08				
Pump Charge-		,,, outg	1.00	Hour -	2520.000	2,520.00
	rge; 4001'-5000'					,
Cementing Hea		İ	1.00	EA	250.000	250.00
•	iner Utilization					
Charge						
Cement Float I	Equipment		1.00	EA	215.000	215.00
Flapper Ty	pe Insert Float					
Valves		RECEIVED				
Cement Float I	Equipment		1.00	EA	250.000	250.00
Guide Sho		OCT 1 0 2003				
Cement Float I		1	1.00	EA	105.000	105.00
	r Cement Plug	ì				
Cement Float I	Equipment	- 1	5.00	EA	110.000	550.00
Turbolizer		RECEIVEDOMNIS	SIOP			200.00
High Head Cha	arge	RECEIVED KANSAS CORPORATION COMMIS	1.00	EA	300.000	300.00
High Head	Charge	MAR 2 7 2009	475.00	D	1 400	245.00
Mileage	and Missiana Compies	MAR Z 1 Zoo	175.00	DH	1.400	245.00
_	nd Mixing Service	WEIND WOLLD'S	М			
Charge		CONSERVATION DIVISION WICHITA, KS	30.00	DH	7.000	210.00
Mileage	ipment Mileage	AAICITIO	30.00	וטח	7.000	210.00
Mileage	ipinent willeage		125.00	DH	1.600	200.00
	nd Bulk Delivery		125.00		1.000	200.00
Charges	na baik belivery					
Pickup			15.00	Hour	4.250	63.75
	e Charge(Pickups,				1	
Vans, or C						
Additives	,	14	2.00	EA	44.000	88.00
CC-1, KCI	Substitute					
Additives		$-1 \wedge 1 \wedge 1$	43.00	EA	6.000	258.00
Cement Fr	iction Reducer					
Additives			36.00	EA	4.000	144.00
De-foamer						
Additives			43.00	EA	7.500	322.50
FLA-322				 		
Additives			106.00	EA	5.150	545.90
Gas-Blok						



Pratt

NASH OIL & GAS, INC.

P. O. BOX 8747

PRATT ATTN:

KS

67124

PAGE

2 of 2

CUST NO

1970-NAS002

INVOICE DATE

10/08/2008

INVOICE NUMBER

1970002621

LEASE NAME

CRC

WELL NO.

2

COUNTY

Pratt

STATE

KS

JOB DESCRIPTION

Cement-New Well Casing/Pipe:

JOB CONTACT

JOB#	EQUIPMENT#	PURCHASE ORDER NO.		TERMS	DUE DATE
1970-02627	301		Net 30 DAYS	11/07/2008	
		QTY	U of M	UNIT PRICE	INVOICE AMOUNT
Additives		750.0	0 EA	0.670	502.50 T
Gilsonite					100 00 T
Additives	_	500.0	0 EA	0.860	430.00 T
Mud Flush Additives	· -	704.0	0 EA	0.500	352-00 T
Salt		-	"	3.555	
Cement	-	25.0	0 EA	12.000	300.00 T
60/40 PO	Z	150.0	0 EA	17.000	2,550.00 T
Cement AA2 Cem	ent .	150.0	الا الا	17.000	2,550.00 11
Supervisor		1.0	0 Hour	175.000	175.00
	upervisor Charge				
			ĺ		
			a comich		
		KANSASCE	RECEIVED RPORATION COM	MISSION	
		M	AR 2 7 2009		
		CON	ESSUATION DIVIS	ION	
		CON	SERVATION DIVIS WICHITA, KS		
		ļ			
		•			
					<u> </u>

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

BID DISCOUNT SUBTOTAL TAX **INVOICE TOTAL** -1,692.26 8.884.39 290.70

9,175.09